Unit 7 Section 3.4 Using the Pythagorean Theorem Powers, Roots and the
Pythagorean Theorem
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| can find missing sides or identify right triangles
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Example Determine the length of the‘hypotenuse, c, of following right triangle.
Express your answer to the nearest tenth of a metre.
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Unit 7 Section 3.4 Using the Pythagorean Theorem Powers, Roots and the

Pythagorean Theorem

Example Find the missing side length to the nearest tenth.
a.

b. r=10cm
k
- m= 8 cm p|—‘ 2
j=1lcm e 13 s
0 _\_m?.: \(Z ?2_+Y7. =&2
\L&-%z =\<2 2 £ 1n2 _ 2
\ , P Td” =6
21 * b4 =k P+ = 225
ks dx* - 100 -10°
Q 2;_—
3., =K AP* 125
. ?’:“.\ QM'
k< 13.Lbam

Example Jeremy’s brand-new big screen TV measures 40” by 25”. What is the length of the diagonal of the
TV? Express your answer to the nearest tenth of an inch.
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